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QUESTION 1

While creating the consignment agreement, you have set the consumption advice frequency to "monthly" and the billing
cycle close date to "31st August, 2020". 

What will happen when you run the consumption advice process on 31st August, 2020? 

A. No consumption advice is created. 

B. Consumption advice is created and the next closing date is set to 7th September, 3020. 

C. Consumption advice is created and the next closing date is set to 30th September, 2020. 

D. Consumption advice is created and the next closing date Is set to 30th October, 2020. 

Correct Answer: C 

https://docs.oracle.com/cloud/r13_update17c/scmcs_gs/FAMML/FAMML1432436.htm#FA MML1380448 

 

QUESTION 2

As part of implementing Oracle Cloud for your customer, you defined multiple Business Units. The customer wants you
to define an Inventory Organization that is associated with all the business units and not just one particular business
unit. How do you achieve this? 

A. Leave the Management Business Unit field blank in the Inventory Organization definition. 

B. It is not possible to define an Inventory Organization that is associated with more than one business unit. 

C. Leave the Profit Center Business Unit field blank in the Inventory Organization definition. 

D. Define the Inventory Organization without associating it with any location. 

Correct Answer: A 

 

QUESTION 3

Your customer wants to prevent customer shipments out of a specific subinventory. They are setting up a material
status to control this. 

Which transaction do they need to disallow? 

A. Sales Order Pick 

B. Sales Order Issue 

C. Move Request Putaway 

D. Ship Confirm 

E. Miscellaneous Issue 
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Correct Answer: B 

 

QUESTION 4

Reorder quantities for an item subinventory are calculated using Fixed Lot Multiple and Round Order Quantity. Assume
that the reorder quantity is 24 and you specify 10 for the fixed lot multiple and enable rounding the reorder quantity.
What will be the reorder quantity? 

A. 30 

B. 24 

C. 25 

D. 20 

Correct Answer: D 

https://fusionhelp.oracle.com/fscmUI/topic/TopicId_P_8B35A040501ED5BEE040D30A688 11E49 

Example: Specifying the Fixed Lot MultipleAssume that the reorder quantity is 24. If you specify 10 for the fixed lot
multiple and enable rounding the reorder quantity, the reorder quantity is rounded up to 30. If you disable rounding the
reorder quantity, the reorder quantity is rounded down to 20. 

 

QUESTION 5

Which statement is false about generating an Internal Material Transfer for expense destination Transfer Order? 

A. Cost Management will pick up the delivery transaction directly from Receiving and process the expense accounting
from that transaction. 

B. Expense destination transfers are expensed upon delivery hitting an expense account Instead of an inventory asset
account as would be the case for inventory destination transfers. 

C. If the receipt is required, then accounting of the receipt delivery transaction will happen Only in Receipt Accounting
because there will not be a delivery transaction in inventory. 

D. Costs for Lot and serial numbers are tracked at put away time when the items are recorded in a destination inventory
location. 

Correct Answer: A 
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